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| 3 points problems (mpoBAnpara 3 povadwv) ‘

1. In what figure is the number of black kangaroos bigger than the number of white
kangaroos?

>€ TTOId €IKOVA 0 apIBPOS Twy Paupwv Kavykoupou ival JeyaAUTEPOG ATTO TOV
apIBuo Twv dotrpwyv Kavykoupou;
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2. Aline writes a correct calculation. Then she covers with a sticker two digits which

4 |+5 =104

H AAiva ypdaoel éva owoTd utToAoyIouO. MeTA KOAUTITEI HE AUTOKOAANTO dUO Wneia Ta

4 +5 =104

are the same: . Which digit is under the stickers?

oTroia gival Ta idia . Molo yneio cival k&tw até Ta

QUTOKOAANTQ;

(A) 2 (B) 4 (€5 (D) 7 (E)8

3. How does the row of circles continue?
Mwg ouveyicel N o€1ipd Pe TOUG KUKAOUG;

(A) O... (B) 0.0. (C) OO..
@000 OO0
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4. How many triangles can be seen in the picture below?
Méoa Tpiywva @aivovtal oTnv TTIo KATW EIKOVQ;

/NN
JAVAVAN

(A) 9 (B) 10 (C) 11 (D) 13 (E) 12

5. In London 2012 Olympics Games, USA won the most medals: 46 gold, 29 silver
and 29 bronze. China was second with 38 gold, 27 silver and 23 bronze. How many
more medals did the USA win?

21oug OAupTiakoug Aywveg «/A\ovdivo 2012», o1 HIMA képdioav Ta TTEPICOOTEPO
METAANIO: 46 Xpuod, 29 Apyupd kal 29 XaAkiva. H Kiva ntav deutepn pe 38 Xpuod,
27 Apyupd kai 23 XdaAkiva. MNooa TepiocdTepa HeTAAAIQ KEPOIoavY o1 HIMA;

(A) 6 (B) 14 (C) 16 (D) 24 (E) 26

6. Daniel had a package of 36 candies. He divided all the candies equally among all
his friends. What number of friends he could not have for sure?

O AavinA gixe éva TTakéTo atrd 36 KapapuéAeg. Moipaoe OAEG TIG KapapéAeg oTa ica
METAEU TwV @iAwv Tou. lMolo apIBusd @iwy dev PTTopEi va €xel;

(A) 2 (B)3 (C) 4 (D) 5 (E)6

7. Vero's mum prepares sandwiches with two slices of bread each. A package of
bread has 24 slices. How many sandwiches can she prepare with two and a half
packages of bread?

H untépa Tou Bepo, eToIndlel 0AVTOUITG pE BUO QETEG WwUi TO KaBEva. 'Eva TTOKETO
Wwui €xel 24 @ETe. MNOoa OAVTOUITG UTTOPET VA ETOINACE! JE BUOMIOT TTAKETA WWI.

(A) 24 (B) 30 (C) 48 (D) 34 (E) 26

8. About the number 325, five boys said:
MNa Tov apiBud 325, mévre ayodpia eimmav:

Andrei: "This is a 3-digit number" , “Aurog sivar évac rpiwneioc apibudég”
Boris: "All digits are distinct" , “OAa ra wneia givai d1apopeTiKG”

Vitya: "The sum of the digits is 10", “To a6poioua Twv wneiwyv eivar 10”
Grisha: "The digit of units is 5", “To wneio Twv povddwyv givair 5”7

Danya: "All digits are odd numbers" , “OAa ra wneia ivai epirroi apiBuoi”
Who of the boys was wrong? , lMoio amd Ta ayépia kavel AdBog;

(A) Andrei (B) Boris (C) Vitya (D) Grisha (E) Danya
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‘ 4 points problems (mmpoAfquara 4 govadwyv) |

9. The rectangular mirror was broken. Which of the following pieces is missing in the
given figure below?

‘Evag opBoywviog KaBpé@Ttng éoTrace. Molo atrd Ta TTI0 KATW KOPPATIO AEITTEl aTTd
TO TTI0 KATW OX£EDI0;

(A)k (B)[l (C) l (D) l (E)B

10. When Pinocchio lies, his nose gets 6 cm longer. When he says the truth, his nose
gets 2cm shorter. When his nose was 9 cm long, then he said three lies and two true
sentences. How long was Pinocchio's nose afterwards?

Ortav o Mivékio Aéel wéparta, N JOTN Tou PeyaAwvel 6 ekatoaTtd(cm). Otav Aéel Tnv
aAnBeia, n uuTtn Tou pikpaivel 2 cm. Otav n yuTtn Tou ATav 9 cm , YETA €itTe Tpia
wépara Kal dUo aAnBivég Trpotdoelg. Moo peydAn €yive n potn Tou MNivokio YetTd atrd
QauTo;

(A) 14 cm (B) 15cm (C)19cm (D) 23 cm (E) 31 cm

11. In a shop you can buy oranges in boxes of three different sizes: with 5 oranges,
with 9 oranges or with 10 oranges. Pedro wants to buy exactly 48 oranges. What is
the least quantity of boxes he can buy?

> £va KATAOTNUA PTTOPEIG VA ayopAoElG TTOPTOKAAIO O€ KOUTIA TPILWV dIOPOPETIKWV
MEYEBWV: Twv 5 TTopToKaAIWY, TwV 9 TTopTOKOAIWY 1} TwV 10 TTopTOoKOAIWY. O TNETPOg
BéAel va ayopdoel akpiBwg 48 TropTokdAia. MNoiog gival 0 pIKPOTEPOG apIBUGG KOUTIWV
TTOU PTTOPE va ayopdaoEl;

(A) 8 (B) 7 (C)6 (D)5 (E) 4



THALES FOUNDATION, CYRPUS

KANGOUROU INTERNATIONAL COMPETITION, LEVELS 3-4, ENIMEAO 3-4

12. m

Ann walks in the direction of the arrow. At every intersection of streets she turns
either to the right or to the left. First she goes to the right, then to the left then again
to the left, then to the right then to the left, and finally again to the left. Where did
Ann stopped?

H Avva reptratd otnv katetBuvon Tou BEAoug. Ze KGBe dilaoTaupwan OpOUwWY
oTpipel KatToTe BeEIA Kal KATTOTE apIoTEPd. MpwTa OTPiBel dEEId, HETA apIoTEPG Kal
META avd aploTepd, JETA OeCIA KAl JETA APICTEPA, KAl OTO TEAOG TTAAIV apioTePd. MMou
oTapdarnoe n Avva;

(E)

13. Four Schoolmates Andy, Betty, Cathie and Dannie were born in the same year.
Their birthdays were on February 20th, April 13th, May 12th and May 25th not
necessarily in this order. Betty and Andy were born in the same month. Andy and
Cathie were born in the same day of different months. Who of these schoolmates is
the oldest?

Téooepeig ouppadnTpIEG, N Andy, Betty, Cathie kai n Dannie yevvriOnkav Tnv idia
xpovid. Ta yevéBAId Toug ATav oTig 20 PeRpouapiou, 13 AtrpiAiou, 12 Mdiou kai 25
Maiiou, éx1 kaT’ avdykn Pe autr Tn o€ipd. H Betty kai n Andy yevviBnkav Tov idio pAiva.
H Andy kai n Cathie yevviBnkav tnv idia pépa aAAd diagopeTikoUg uAiveg. Moia atrd
QUTEG TIG CUPMOBNTPIEG €ival n TToI0 HEYAAN oTnv nAIKia;

(A) Andy (B) Betty (C) Cathie
(D) Dannie (E) impossible to determine (aduvaTto va BpeOei)

14. 30 children from Adventure Park took part in competitions. If 15 of them took part
in the "moving bridge" contest, and 20 of them went down by “slide”, how many
children from Adventure Park took part in both events?

30 TTaidié a1réd 10 Mdpko Mepiréteiag TmMpav Pépog ae diaywviopougs. Av ol 15 TTipav
MEPOG OTO BIAYWVIOUO «KIVOUUEVN YEQUPO» Kal 20 THpav YéPog aTo diaywvioud Tng
«To0UAABpag», TTéoa TTaudid atrod 10 MNdapko MepiréTeiag TTAPaAv HEPOG Kal aToug dUO
dlaywviououg;

(A) 25 (B) 15 (C) 30 (D) 10 (E) 5
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15. Which of the following pieces fits to the piece in the following picture such that
together they form a rectangle?

Moo a1réd Ta TTI0 KATW KOPPATIA TAIPIACEI 0TO KOUUATI TTOU akoAouBei woTe padi va
oxnuartifouv éva opBoywvio;

(A): (B)I (C)q (D); (E)E

16. The number 35 has the property that it is divisible by the digit in the unit position,
because 35 divided by 5 is 7. The number 38 does not have this property. How many
numbers greater than 21 and smaller than 30 have this property?

O apiBuég 35 éxel TV I016TNTA OTI €ival DIAIPETEOG PE TO Wnio oTn Béon Twv
Hovadwv d16T1 otav 10 35 diaipebei e To 5 pag divel 7. O aplBudg 38 dev £xel auth
TNV 1016TNTA. Md0o0I apiBuoi peyaAuTtepol Tou 21 kal PIKpoTePOI Tou 30 £xouv auTh TNV
1010TNTQ;

(A) 2 (B) 3 (© 4 (D) 5 (E) 6

5 points problems (mpoBARpara 5 povadwv) ‘

17. Joining the mid points of the sides of the triangle on the drawing we obtain a
smaller triangle. We repeat this one more time in the smaller triangle to obtain
smallest triangles. How many triangles of the same size as the smallest triangle fit in
the original drawing?

EvwvovTag Ta géoa Twv TTAEUPWYV TOU TPIYWVOU TTOU QAiVETAI TTAIPVOUNE EvVa
MIKPOTEPO TPiywvo. To eravarauBdavouue autd akOun Hia opd OTo MIKPOTEPO
TPIYWVO YIO va dNUIOUPYRCOUE TO TTIO PIKPOTEPO TPiyWwVOo. Mdca TTI0 PIKPOTEPQ
Tpiywva Tou 16iou peyEBOUG Xwpouv JECT OTO aPXIKO TPIYWVO;

/\

(A) 5 (B) 8 (C) 10 (D) 16 (E) 32
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18. After the First of January 2013, how many years will pass before the following
event happens for the first time: the product of digits in the notation of the year is
greater than the sum of these digits?

Metd Tnv MpwTn lavouapiou 2013, Téoa xpdvia Ba TTeEpdoouv PEXPI TO €EAG yEYOVOg
OUMBEl yIa TTPWTN @OPA: TO YIVOUEVO TWV WYNOiwv TNG avaypagns Tng Xpovidg givai
MEYOAUTEPO aTTO TO ABPOICHA TWV YNPIwV TNG;

(A) 87 (B) 98 (©) 101 (D) 102 (E) 103

19. In December Tosha-the-cat has slept exactly 3 weeks. How many minutes did he
stay awake during this month?

To Aekéuppn n yara Tosha koipndnke akpiBws 3 Bdouddeg. Mbéoa AeTTTd £eive
gutTvia oTn dIAPKEIa AUTOU TOU AvQ;

(A)(31—7)x3x24x60 (B)(381-7x3)x24x60  (C)(30—7x3)x 24X 60
(D) (31— 7) X 24 x 60 (E) (31 — 7 x 3) x 24 x 60 X 60

20. Basil has several domino tiles drawn in the figure. He wants to arrange them in a
line according to the following "domino rule": in any two neighbouring tiles, the
neighbouring squares must have the same number of points.

What is the largest number of tiles he can arrange in this way?

O BaoiAng é€xel viopivo TTAAKeG OTTwG gaivovTal. OEAel va TIG TOTTOBETACEI OE YPAPUNA
ME Baan Tov €€1G «kavova VIOUIVO»: O€ OTTOIECONTTOTE YEITOVIKEG TTAAKEG, TA YEITOVIKG
TETPAYWVA Ba TTPETTEI va £X0UV TOV id10 apIBud aTTd KOUKKIOEG.

Molog cival 0 peyaAuTePOg apIBudS TTAAKWY TTOU UTTOPEI VA TOTTOBETACEI e AUTO TOV
Kavova;

[+ ].°] oo 0l [etle e

(A)3 (B) 4 €5 (D) 6 (E)7

21. Cristi has to sell 10 glass bells that vary in price: 1 euro, 2 euro, 3 euro, 4 euro, 5
euro, 6 euro, 7 euro, 8 euro, 9 euro, 10 euro. In how many ways can Cristi divide all
the glass bells in three packages so that all the packages have the same price?

H Kpiotn mrpétrel va mwAnoel 10 yudAIveg KOUTTAVEG Ol oTToieg dlagEpouy oTn TIuA: 1
euro, 2 euro, 3 euro, 4 euro, 5 euro, 6 euro, 7 euro, 8 euro, 9 euro, 10 euro. Mg
Téo0UG TPOTTOUG Ba ptTopouce n KpioTn va Xwpioel OAES TIG YUAAIVEG KOUTTAVEG O€
Tpia TTOKETA WOTE OAA TA TTAKETA va £XOUV TNV idla TIA;

(A1 (B)2 (C)3
(D) 4 (E) Such a division is not possible (dev gival duvaTto va Yivel).
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22. Peter bought a carpet 36 dm wide and 60 dm long. The carpet has a pattern of
small squares containing either a sun or a moon, as can be seen in the figure. You
can see that along the width there are 9 squares. When the carpet is fully unrolled,
how many moons can be seen?

O lMéTtpog aydpace £va xaAi 36 dm TTAGTog kal 60 dm prkog. To xaAi £xel JoTiBo e
MIKPpG& TETPAYWVA Ta OTToia TTEPIEXOUV EiTE NAIO €iTE Peyydpl, OTTWG PaiveETal GTO GXAUA.
Mrtropeite va dlatmoTwoeTe 6TI OTO TTAATOG UTTAPYOoUV 9 TeETpdywva. OTav To XaAi
EeTuhixBei TTARPWG , TTOOA PeYYApPIa UTTOPOUNE va DOUE;

-
»>

36 dm

-
«

A
Y

60 dm
(A) 68 (B) 67 (C) 65 (D) 63 (E) 60

23. Baby Roo wrote down several numbers using only the digits 0 and 1. The sum of
these numbers is 2013. It turned out that it is impossible to get the same sum with a
less amount of such numbers. How many numbers were written by Baby Roo?

O Roo éyypawe did@opous aplBuoug xpnaolgoTrolwvTag povo 1a wneia 0 kai 1. To
dBpoiopa autwy Twv apiBuwv civai 2013. OTTwg @Aavnke gival adUvaTo va TTAPOUUE
T0 id10 dBpoiopa pe AiyéTepoug aplBuoug TéTolou gidoug. Mbool apiBuoi ypdetnkav
atrd Tov RoO;

(A) 2 (B) 3 (C) 4 (D)5 (E) 204

24. Beatrice has a lot of pieces like the grey one in the picture. At least how many of
these grey pieces does she need to make a grey square?

H BapBdpa €xel TTOAMG KOPUATIO OTTWG TO YKPICO TTOU @aiveTal OTnVv €Ikéva.
TouAdyxioTo TTOoa TETOIA KOUUATIA XPEIAdeTal YIa VO KAVEl £va yKPICo TETPAYWVO;

(A) 3 (B) 4 (C)6 (D) 8 (E) 16



